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Given that m, c are positive integers less
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Agent A is deciding whether to become
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It is given that 4 cos* 0+ 5sin’0 — 4 =0,

A bag contains d balls of which x are
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Letx®y=x+y - xy, where x, y are real
numbers. Find the value of the expression
e 0ol).
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If ABD is a semi-circle and OACB is a
sector, find the area of shaded region
ACBD.
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Given that (x — 1)? + y* = 4, where x and

There are two sequences: Sequence A: 1,

Find the area of the square ABCD, if
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3-digit natural numbers XyZ and Zyx is a
positive integer greater than 600. Find
the greatest value of x + z.
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20042, Find the sum of all the digits of A.
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Each of his sons has 8 sons and k&
daughters. Each of his daughters has k
sons and 8 daughters. It is known that the
number of his grandsons is one more
than the number of his granddaughters
and k is a prime number. Find 2k.
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han 10. I m = 2¢ and Omeme.... = €.+ 4 an undercover by flipping a coin three where 0 < 6 < 27. If the maximum value black, x + 1 are red and x + 2 are white. y are real numbers. Find the maximum 2,3,4, ...and Sequence B: 1,2,4,8, .... radius of the circle is 3
BB o= 2t A s s c+8 | times. He will be an undercover if the of 0 is =  find m. If the probability of drawing a black ball value of 2x + y2. Find the smallest integer n such that J2
find c. number of head obtained is greater. How 3 randomly from the bag is not more than 1 1
i I = Xb.>52aq,.
many coins arrangement are there for A N mrd e vl 6l = i A B
to become an undercover?
4 5 6 7 8 .9
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FTHER PR T TP EE R o Given that the difference between two LetA=-12422-324+42- . -2003%+ 1 38 x B 2T A o » AT 122k Mr. Chan has 8 sons and k daughters. —{E Bl ] B 2 5.4 2k > R MBI Square PORS is inscribed in A ABC. The

areas of A APQ, A PBS and A QRC are 4,
4 and 12 respectively. Find the area of
the square PORS.
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Find the first positive integer that can be
written as the sum of a positive cube and
a perfect square in two different ways;
that is, the smallest n such that x* + y*> =
n has two different solutions of positive
integers x and y. Note that the next such

number is 65.

Fir;d the smallest integer p such that
% —3p + 24 is a negative integer.
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If a and f3 are roots of quadratic
equation 4x* — 10x + 3 =0,
find 4 (a* + ).

Given that a, b, ¢ are positive integers
and a < b < ¢ = 11. Find the number of
triangles formed with sides equal acm,
bcm and ccm.
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The sector ABC is one quarter of a circle
with radius 4 cm and AD is a tangent to
sector ABC at point A. Suppose the area
of two shaded parts are equal, find the

area of trapezium
A D ApcD (Correct to
the nearest

i integer).
+

Given C} = 70n. Find n.
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ABCD is a trapezium, the segments AB
and CD are both perpendicular to BC and
the diagonals AC and BD intersect at X.
IfAB=5cm,BC=12cm, CD =16 cm
and the area of A BXC is w cm?, find w
(Correct to the nearest integer).
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mathematician who is

often cited as 3 1
i)

the “father of
modern analysis”.

of twenty.
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following long

division problem

represent digits from O to 9.
Find the quotient MA.
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He was a Germ:;m under shadowy circumstances at the age letters in the VA M A e A
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